Circular Motion Lab
Purpose- to find the velocity of the rubber stopper two different ways and compare these values

Set-up

Data
Hanging mass (m1) = ______________
Spinning mass (m2) = _____________

Table 1- Velocity calculated from time and radius

	Radius ( m )
	Time for 10 rev (sec)
	Time for 1 rev (sec)
	v (m/s)
	rev/sec

	0.1
	
	
	
	

	0.2
	
	
	
	

	0.3
	
	
	
	

	0.4
	
	
	
	

	0.5
	
	
	
	

	0.6
	
	
	
	


Table 2- Velocity calculated from Tension

	Radius ( m )
	Tension
	v (m/s)

	0.1
	
	

	0.2
	
	

	0.3
	
	

	0.4
	
	

	0.5
	
	

	0.6
	
	


Questions
1. Using the time for 10 revolutions, calculate the velocity in m/s for each trial. These answers go into Table 1.

2. Based on the hanging mass, find the tension in the fishing line. Explain why you are doing it this way.

3. Using the answer from #3, find the velocity for each trial. These answers go into Table 2.
4. Which set of velocity values is more likely to be correct? Justify your choice.

5. If this fishing line is 20 lb. test, what would be the shortest possible time for one revolution of radius 0.3 m before the line breaks?
